Duncraig Senior High School



YEAR TEN 2024

2024
24 881 10 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "8BQ4" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the Return date of Friday 15th December 2023.

All orders returned on or before the 15th December 2023 will receive FREE Home Delivery. Orders can still be placed after this date but there will be a late fee of up to \$17.50.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Ŋ Item Item Qty Unit Total Office Use Description Reqd Reqd Price \$ Amount \$

YEAR TEN

ALL STUDENTS REQUIRE

All Year 10 students are required to have a BYOD (Bring your own device) with minimum specifications. Please visit our

	All Year 10 students are required to have a BYOD (Bring your own website at the following address https://www.duncraigshs.wa.edu.arspecifications.								
	PERSONAL ITEMS REQUIRED - STATIONERY ONLY								
	All students are required to have these stationery items with them at each class. If an item is used or lost, please ensure it is replaced. Thank you								
P55110	Binder A4 2D Ring 25mm PE Black	1		1	5.35	5.35			
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	2		5	2.15	10.75			
P51020	Calculator Sharp Scientific EL506TS	3		1	51.75	51.75			
P55442	Display Book A4 20 Pocket Black Refillable	4		4	2.15	8.60			
P50510	Display Book A4 20 Pocket Mid Blue Refillable	5		1	2.15	2.15			
P55448	Display Book A4 20 Pocket Purple Refillable	6		2	2.15	4.30			
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	7		1	14.95	14.95			
P55520	Eraser Plastic Ink/Pencil Combo Large	8		1	6.75	6.75			
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	9		8	2.15	17.20			
P51353	Glue Stick 40gm Artline Purple	10		1	2.75	2.75			
P51157	Highlighters Pkt 4 Micador ECO	11		1	3.50	3.50			
P55959	Notebook A5 200 Page Q570/P570 2 Pockets	12		1	4.75	4.75			
P56095	Pen Ballpoint Cap Type Blue Medium	13	Ш	4	0.35	1.40			
P56096	Pen Ballpoint Cap Type Red Medium	14	Ш	4	0.35	1.40			
P56166	Pencil (HB) Copperplate	15	Ш	6	0.55	3.30			
P56252	Pencils-Coloured 12's Colourush	16	Ш	1	4.50	4.50			
P56353	Protractor 10 cm 180 4" Half Circle	17	Ш	1	0.45	0.45			
P56418	Ruler 400mm Plastic Clear	18	Ш	1	1.45	1.45			
P58507	Scissors 155mm Plastic Handle	19	Ш	1	2.95	2.95			
P56240	Sharpener Pencil Barrel Single Hole (EL)	20	L	1	1.25	1.25			
	THE ARTS								
	DANCE (10AN1/10AN2)								
	No additional resources required.								
DECCCO	DRAMA (10AD1/10AD2)								
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	21	Ц	1	14.05	14.05			
	DIGITAL ART & GRAPHIC DESIGN (10AG1/10AG2)								
P52001	Pencil (2B) Goldfaber	22	Ц	2	0.65	1.30			
P56475	Sketch Book A3 20 leaf Perf Board Cover Spirax #533	23		1	5.20	5.20			
	MEDIA (10AME1/10AME2)								
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	24		1	14.05	14.05			
D=0000	PHOTOGRAPHY (10AH1/10AH2)								
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	25	Ц	1	14.05	14.05			
	VISUAL ARTS 2D (10AP1/10AP2)								
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	26	Ц	1	9.55	9.55			
P56327	Pocket Plastic A3 11 Hole Pkt 5 Heavy Weight	27	Ц	1	4.80	4.80			
P56475	Sketch Book A3 20 leaf Perf Board Cover Spirax #533	28	Ш	1	5.20	5.20			

Please tick the items required in the box provided \downarrow

	r lease tick the items required in the	Item	<u>⊾∕</u> Item	Qty	Unit	Total
Office Use	Description	No.	Reqd	Reqd	Price \$	Amount \$
	VISUAL ARTS 3D (10AC1/10AC2)					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	29	Ш	1	9.55	9.55
P56327	Pocket Plastic A3 11 Hole Pkt 5 Heavy Weight	30		1	4.80	4.80
P56475	Sketch Book A3 20 leaf Perf Board Cover Spirax #533	31		1	5.20	5.20
	ENGLISH GENERAL & ENGLISH SBAE/G&T No additional resources required.					
	HEALTH EDUCATION					
	RESPECT FOR A HEALTHY FUTURE (10PH)					
	No additional resources required.					
	HUMANITIES AND SOCIAL SCIENCE GENERAL, SBAE/G	&T				
	No additional resources required.					
	LANGUAGES					
	FRENCH (10LF1/10LF2)					
	No additional resources required. For home use - If your child intends to continue with French in Year 11 (P16664) is recommended.	and Year 12, a	a Collins Fre	nch Dictionar	y & Gramr	mar 8th Ed
P16664	Collins French Dictionary and Grammar 8E [Collins]	32	\Box	1	29.99	29.99
	INDONESIAN (10LI/10LI2)					
	No additional resources required. For home use - If your child intends to continue with Indonesian in Year Ed (P01333) is recommended.	11 and Year	12, an Oxfor	d Study Indoi	nesian Dic	tionary 2nd
P01333	Oxford Study Indonesian Dictionary (2E) [Sahanaya (Ed.)]	33	\Box	1	33.95	33.95
	MATHEMATICS					
	MATHEMATICS - SBAE/GIFTED & TALENTED (10MAS, 10MAT)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	34	Ш	1	281.95	281.95
P54143	Graph Book A4 96 Page 5mm Spirax #131	35	\Box	2	2.00	4.00
	MATHEMATICS - PLUS (10MAP)					
P54143	Graph Book A4 96 Page 5mm Spirax #131	36	\Box	2	2.00	4.00
	MATHAMATICS - (10MAG)					
P54143	Graph Book A4 96 Page 5mm Spirax #131	37	Ц	2	2.00	4.00
	MATHEMATICS - FOUNDATIONS (10MAF)					
	No additional resources required.					
	MUSIC - ONLY REQUIRED IF IN THE MUSIC PROGRAM					
P50510	Display Book A4 20 Pocket Mid Blue Refillable	38	Ш	2	2.15	4.30
P55907	Music Book A4 48 Page Feint & Staved	39		2	2.45	4.90
	PHYSICAL EDUCATION					
	All Physical Education subjects require a sports uniform. These are ava	ilable from Un	iform Conce	pts Supersto	re located	in
	Joondalup.					
	BOYS PERSONAL FITNESS (10PB1/10PB2)					
	No additional resources required.					

GIRLS FITNESS FOR LIFE (10PG1/10PG2)

No additional resources required.

OUTDOOR EDUCATION (10PO1/10PO2)

No additional resources required.

Please tick the items required in the box provided

Item Item

Reqd

Unit Qty Reqd Price \$

Total Amount \$

Office Use

Description

PHYSICAL EDUCATION (10PEDX1/10PEDX2/10PEDY1/10PEDZ1/10PEDZ2)

No additional resources required.

SPECIALISED PHYSICAL EDUCATION (10PS1)

No additional resources required.

SPORTS SCIENCE (10SS2)

No additional resources required.

SCIENCE

SCIENCE GENERAL & SCIENCE SBAE/G&T

No additional resources required.

TECHNOLOGIES

CARING FOR CHILDREN (10HD1)

No additional resources required.

CHILD DEVELOPMENT (10HD2)

No additional resources required.

CREATIVE TEXTILES (10HC1/10HC2)

No additional resources required.

CYBER SECURITY HACKING CODING (10CD1/10CD2)

No additional resources required.

ELECTRONICS (10EL2)

No additional resources required.

FINANCIAL MATTERS (10ACF3/10ACF4)

No additional resources required.

FOOD FOR SOCIAL OCCASIONS (10HF2)

No additional resources required.

GAMING, SYSTEMS AND CODING (10GS1/10GS2)

No additional resources required.

INTERNATIONAL FOODS (10HI1)

No additional resources required.

JEWELLERY (10DJ1/10DJ2)

No additional resources required.

MECHANICAL WORKSHOP (10DE1/10DE2)

No additional resources required.

METALWORK (10DM1/10DM2)

No additional resources required.

ROBOTICS (10DR1)

No additional resources required.

WOODWORK (10DW1/10DW2)

No additional resources required.

Page 4

Please tick the items required in the box provided

Item Item No. Reqd

Qty Unit Reqd Price \$

Total Amount \$

Office Use

Description

TRIATHLON (10PA1/10PA2)

Triathlon Polo shirts are available from the Triathlon Department at the school.

Replacement uniform pieces (eg Bathers and Racing Suits) may be available directly from the school. Alternatively new uniform requirements will be available from Scody.

Number of Boxes ticked:

Postage (Home delivery only) \$0.00

ESTIMATED AMOUNT DUE
(PRICES CORRECT AT 16/11/23) \$